24,

25.

26.

27.

28.

29,

1. . 1 _ 5. _nl:

a. 25 inches; 5 X 5. =2in. = 25 in.

b. Since a regular polygon has sides that
are all the same length, | found the

length of one side and multiplied by 5.
c. 5lines of symmetry

a. 5sq. ft; 11t

2 ft 3ft

1ft

Area |
+ Areall

1ftx2ft=2sq.ft
3ft x1ft=23sq.ft
5sq. ft

b. 12f; P =3ft +3ft +1ft +2ft +2ft +
1ft=12ft
1 1

mi. X - mi. = 3

5 y sq. mi.

% of a sq. mj;
Sandie’s answer is reasonable because
4 is close to 4, and 1 subtracted from the
product of 4 X 3is 11.

See student work.

a. Yes; the rectangular faces have edges
that are parallel.

b. Yes; two rectangular faces have edges
that are perpendicular.

30. 30cm;P=6+6+3+3+3+ 9 =230
9
3 3
6
3
6
Early Finishers
273 yd*; c12yd  (9yd
15 yd
14 yd 3yd
Areal 15yd x 14 yd = 210 yd®
Areall 12yd x 3yd= 36yd’
+Arealll 9ydx 3yd= 27yd’
273 yd?
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Lesson Practice e

7
a. 12

< 2 more time reading; rewriting
fractions with common denominators can
help us compare fractions. The denominators
are 12 and 3, so the common denominator is
12. To change thirds to twelfths we multiply

byt.2xz=2. Weseethat]—

than 5 We can also express the comparison
8

7 <2

is less

with a Iess than sign;

g > %; rewriting fractions with common
denominators can help us compare fractions.
The denominators are 5 and 3, so the
common denominator is 15. 2 x 2 = £ and

315
X 9 = é- We eeethati

is greater than
We can also express the comparison with

5
a greater than sign; G > 35

1

3

é
15°

Neither; both Larry and Barry carried the
tent half the distance.

5. 1.,.4_4
8 2727 8
1 1
8T8
5

8

1. 1,2_2
$ 2727 4
B
2 ]

1

4

7. 3,2_6
& 17278
U
8 8

7

8

5, 2.,3_6
¢ 373 3
-1 > 1
9 9

]

9

T. 1yd_ 4
12 37171
13_3
1737
L

12

1. 1,3_3
& 27376
~1x2-2
3%27 6

1

6
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Y 4 4
1,2 _ »2
+2§><2—24
3
53
4
k.7§; 2%—)-2%
14 _ g4
-i-5§><4—58
75
8
1. 13 _433
I.23, 32><3 36
— 41 > 11
16 16
m.%; 2%—»2%
1w2_n2
22><2 23
1
4
n 6%, 5%—-—-)-52
1,2 _ 42
+‘lz><§—18
6L
8
5, 143 _133
0. 4% 32><23 36
1w2_42
+13>(2 16
45
6
1. 43«3 _49
p Sﬁ, 44><‘31 45
12 x4 _48
13%3=1%
31
12
a' 1 é: _5_
q 3ﬁ' 42><g 410
12 _ 42
15><2 110
3
316

Written Practice

1. 83%%;@

2. 26 years; 1875 - 1849 = 26 years

L

3. a. 25%; = 25%
3
b- Z
4. D

Saxon Math Intermediate 5
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10.

11.

12,

13.

14.

15.

16.

17.

& < 3; rewriting fractions with common
denominators can help us compare fractions.
The denominators are 3 and 6, so the
common denominator is 6. We change thirds

to sixths by multiplying by 3. £ x

2 _4
2= We

see that % is less than g. We can also express

the comparison with a less than sign;

9.01.4 ., 4, 1_9
$2%517373173
3.60 _3
5700 5

4 5
56

a 2cm;P=05+05+05+05=

2.0cm

b. 0.25sq.cm; A = 0.5 X 0.5 = 0.25 sg. cm

90 mm; CD is equal to BD - BC =

60 - 40 = 20
3. 1,2_2
8’ 4><2 8
b
3
8
1. 3 » 3
4 4 4
_1y2_2
2><2 4
1
4
1 7 7
8 8 8
47273
1
8
1, 5 5
15' 28 "28
_q1 4 _ 44
13x3=13
]
13

(o]
olw | ;|
Il

=]
[STEN
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18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

650; 6.5 X 100 = 650.0

368;

0.072;

$1.32;

$1.10;

4
46( ., .. .
% 80 1 digit

368.

3
0.18]
x 0.4
0.072

$ 1.32
10)$13.20
-10

32
=30

20

£LADC or LCDA

1 3 digits

M. 1.,3_3
12’ EX§‘182
2..4_8
t3X37 12
n
12
17 sq. f; 2 ft 3ft
Cron e
4 ft !
Areal 4ft x2ft= 8sq.ft
+ Areall 3ftx3ft= 9sq.ft
17 sq. ft
No; the division 85 + 12 produces a

remainder.

Saxon Math Intermediate 5
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28. Use compatible numbers; since 12.3
is close to 12 and 29 is close to 30,
a reasonable estimate is 12 X 30, or
360 miles.

: 21 31 2 3
29. Since 3 > 3 and 3 > 2 the sum of 3 and y
will be greater than % + %, or 1; since g < %
and % < %, the sum of % and % will be less
1,1
than 2 + 2 Or 1.

30. a. 1 hr 35 min; 14:05-12:30 = 1:35
b. 7:40 p.m.

c. Yes, if the train arrives in Fort Collins
as scheduled (at 11:40 p.m.), Tim can
be back on campus before midnight.
He should get to campus at about
11:45 p.m.

Early Finishers
7_43 =31 miles: 47 - 18 =
a. 45 14 38mlles,4B 18 3

1 miles: 13 1 7 _ 46 4 7 _
b. 105 miles; 17 + 35 + 45 =12+ 35 + 45 =

17 _ 1 _ 1
BF—8+2§—1O§m|leS

Lesson Practice 0

a. 0.13; 0.13

4)0.52

12
12

c. 0.17; 0.17

5)7.5

25
=25
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i. 0.0005;

. 0.13; 0.13

. 0.7; 0.7

. 0.04;

. 0.05; 0.05

0.0005
5)0.0025
-25

0

. 0.02; 0.02

. 0.04; 0.04

. 0.0048; 0.0048

3)0.0144
-12

24

—24

0

. about 1.89 liters;

Saxon Math Intermediate 5

1.89
213.78

17
-16

18
-18

21

Written Practice 0

1.

2.

10.

11.

12.

13.

14.

=1
t372

10 points; (36 + 2)-8 =18 -8 = 10

o=+
W=

June 21 or June 22
a. 1,2,3

2
b.§

c. 331%; 1 % 100% = 190% = 33]%

1.04-
100 0.1; 10%

4feet; P=8s;P =8 X 6in. = 48in. =
4 feet

9807; 9 and 7 are the only odd numbers, so
9 must be the first digit because it is greater
than 7. This means that 7 is the last digit. 8 is
greater than 0 so it must be the second digit.

a. DC (or CD)

b. 14cm;P=4cm+3cm+4cm +
3cm =14 cm

c. 12sq.cm;A=4cm X 3cm = 12 sg. cm

5cu. ft; 12 inchesisequalto 1 ft. V = 1 ft x
1ft x 5ft=5cu.ft

98 mm; LM =56 mm ~ 2 = 28 mm
MN =28 mm = 2 = 14 mm
KN = KL + LM + MN = 56 mm +
28 mm + 14 mm = 98 mm

116.000
3.170
49.000
+ 1125
69.295

69.295;

3'1,
3.420
-1.242
2.178

2.178;

430; 4.3 x 100 = 430.0
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15.

16.

17.

18.

19.

20.

21.

23.

24,

25.

26.

27.

1
2
23.68; 6.4 ..
><3_7[2dlglts
1448
+ 1920
23.68
0.0144 6(236
: ; 36 , .. .
% 0.04 4 digits
0.0144
1.8; 1.8
213.6
=2
16
-16
0
7; .0007
710.0049
-49
0
121.5 1.35]
% 9 :2d|g|ts
121.5%
7. 1 1
7
38
1, 1,2 _2
2’ fxz f1;
tg—>%
3_1
6 2
1. 7 7
e
1 — 2
“2%X%5 T 10
2 -1
10 5
7. 9 9
1 _
- 5%3 = 10
7
31
12 _
6,?—6
3.4 _12 _
1 18 . _1
5,18.ﬁ 18—5
32 +23 =5T
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28. a. 18sq.in.; A =6in. X 3in. = 18 sq. in.

1 A = 1 1 _1
b. ésq.ft,A—zﬂxiﬂ—gsq.ﬂ

29. a. 29sq.in;A=(2x2)+(5x5) =
4 +25=29sq.in.

b. Perimeter is 24 inches; 7
2

30. 170g; 287 + 56% + 85 = 159% =170 g

Early Finishers

a. 1400.92 ft; 1400.92
314202.76
=
12
-12
00
:Q
02
ﬂ
27
ﬂ
06
-6
0

2101.38
214202.76
-4
02
-2
00
m
02
:g
07
—6
16
-16
0

b. 2101.38 ft;

Lesson Practice @

a. 0.15; 0.15
4)0.60

-4
20
-20
0
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b. 0.024; 0.024 k. 3.24
5)0.120
-10 l. 0.025
20
-20 m. 0.324
0
n. 0.0025
c. 0.025; 0.025
4)0.100 o. 0.0324
-8
20 p. 1.2
—20
0 q. 0.12
d. 0.05; 0.05 r. 0.012
2]0.10
0
0
1. C
e. 0.08; 0.08
5)0.40 2. 30; round 611—0 to 6 and 4% to 5, then multiply
-40 6 x5 =30
0
3. 8 pencils; one dollar is equal to 100 pennies.
f. 0.175; 0.175 100 + 12 = 8 R 4 or 8 pencils.
8)1.400
-8 4, C
60
. L7 _ 70 _
-56 5. 70%; 15 = 105 = /0%
40
4 1. -4 _ 1
—8 6. a. 25 4% = 155 = 25
b. 1;5% =-2> =1
g. 0.125; 0.125 20 10020
)0. 11.53.4 . 4,3 _11_53
407200 7. 4’24’4+4+4_4_24
1 M1 1 11
10 8 %% & X371
-8
20 9. octagon; yes
-20
555
0 10. & 53
h. 0.075; . S hr 3w3_09
H 0.075 M. 15 hr 27X 35 =25
8)0.600 114 _ 44
-56 '3y 12
40 13
~40 "
0 12, a. 0.3m;1.2m = 4 = 0.3
i. 0.075; 0.075 b. 0.09sq.m; 0.3 m x 0.3 m = 0.09 sq. in.
4)0.300
11
—28 13. 78.05; 49.35
20 25.00
-20 + 3.70
0 78.05
j. 0.25

Saxon Math Intermediate 5 213 © Harcourt Achieve Inc. and Stephen Hake. All rights reserved.



14.

15.

16.

17.

18.

19.

21.

22,

23.

<;Vv81 +v100 () 9* + 10°

ool

9 + 10 () 81+ 100
19 < 181

Seven hundred sixty-six thousandths;
199,
2.000
-1.234
0.766
0.0025; 0.0025
5)0.0125
-10
25
-25
0

420; 4.2 X 100 = 420.0

3
0.085; 017 . . .

0.085

0.15; 0.15
4)0.60
ﬂ

20

0.06;

0.45; 0.45

+
W= o=
X
wlw
I
w w
O | ©lwwo|—=

X
(MY
Il

[ )14, FRTIN
[ IENR R[4, Fe>1]\N]

D=
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24,

25.

26.

27.

28.

43 _ 43
110 110
2 _ nl
350 = 3%
4,12:4

a. 0.035
b. 8.75

a. 30sq.cm; A= (6cm X 4cm) +
(3cm x2cm) =24sq.cm + 6sg.cm =
30 sg.cm

b. Perimeteris 24 cm; 6cm

3cm

6 cm

3cm 2cm

4cm

Use rounding; since $2.19 is close to $2
and $1.69 is close to $2, Carter spent
about (3 X $2) + (2 X $2), or about $10.

Lesson Practice

4
a. 4,%%X%=%—>3)ﬁ
-12
0
1.4
b. 1.4;%2 x 8=42 322
-3
12
12
0
0.2
c. 092 x 8 =24 __, 1224
24
0
0.6
d. 0.6;224 10 _24 457
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14
e. 14,285 13 =% 456
-4
16
-16
0
3
f.3;38x10=35 > 12/36
-36
0
4
g 424x =2 _»624
' -24
0
0.25
h. 0.25; %125 5 18 = 125 5725
' -10
25
25
0
1.9
i 1.9;228 10 =228 127228
12
108
108
0

Written Practice @

1. See student work.

2, 7Tyears;(9+8+7+6+5)+5=35+5=
7 years

3. 96 lions; tigers = 2 X 24 = 48; Lions =
2 X 48 = 96 lions

4, $15,999; Step 1: Find how much money they
have together.

$18.35
+ $22.65
$41.00
Step 2: Find how much money is needed.
$16,040 |
-$ 41
$15,999

5. a. CandD

b. B

Saxon Math Intermediate 5
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10.

11.

12.

13.

14.

10, nl1. A1 ; 10 10 3 _ 30 _
?é 25; 315 isequalto 3. 5 X 7 =75 =
a. £LADC (or LCDA)
b. Trapezoid
5. 1.3 _ a3
1 2 _ 42
+13 x5 =15
5
4%
2, 1
33 2. — 25
1 3 _ 43
+13xX3=15
4 _ a2
35 =33
1. 5 5
_q1 3 3
12 X 3 16
2 _ 41
46 =43
5. 2.4 _ ,8
3'1'5! 4§ X i 4§
1 3_43
“1yx3= 13
5
312
0.0024; 0.0024
6)0.0144
12
24
-24
0
0.24; 0.24
511.20
-10
20
20
0
150; 150
12)1800
-12
60
—60
00
=0
0
0.24 0_ 24 0.8
—24
0
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16. 20 28. a. Number of ltems Put in Backpack
0.15 X
.018 ., 10 _ 1.8 11.80 X X
17. 0155 X 55 = 45 —>12}:.80 X x % % «
-1z X X X X X X X
60 [T TR AN SN NN N T N S |
| I I 1 i i 1 I T I
60 1 2 3 456 7 8 9 10
0
b. 5items
18. a. 0.05
c. 5items
b. 0.005
d. 8items;10-2 =8
19. 1.24;(3-1.6)-0.16
30 29. 48-13-11-1, or 23 seats
- 1.6 :
14 -0.16 — 1,&() 30. a. Use rounding; a reasonable estimate
~ 016 is 300 + 300 + 500 + 300 + 400, or
1.24 1800 students.
20. 0.036; 0.12], . . b. 1800 + 5 = 360; about 360 students
14 digits
X 0.30 |
0036
: a. 2211 x13
21. 1.2 s:).12]2digit!5 & 13 X 13
X 1 l l
1.2
3 7_21_55
2 2 X 4% "%
22. 3600; 75
X 48 b 5§;31x12
600 o2 3
+ 3000 l l
3600 7 5_35_¢5
2% 3 % "%
23, 11,12 — 44 _ 41
2’8 8 2 c 7%;:3)(2%
2. 8 _32 _ 402
24. 1034 x5 =32 =102 l l
2. p_ 11,1, 1_2_,2_42 3 3_15_+41
b. §saq.ft d. 14% 4 x 32
26. 960 cubic feet; V =10ft x 12ft X 8ft = ,l, l
960 cubic feet 4 1 44 _ 42
177373 3
27. a. 125sq.ft; A = (5 X 5) + (10 X 10) = .
25 + 100 = 125 sq. ft e g3 X235
b. Perimeter is 50 feet; 10 ft l l
1w 77
5 ft 373 9
ot 10 ft
5 ft 17. 1 5
f. 355 = X 22
15 ft 36 i 6
1,17 _ 17
%% "3
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Written Practice @

1.

2.

10.

11.

12.

See student work.

[+

. triangular prism
b. 5
c. 6

d. triangular faces

24+2=2X2
D
Use rounding since 7% pounds is close

to 8 pounds, a reasonable estimate of
the kitten’s weight is 11 - 8, or about
3 pounds.

25 hours; 100 ~ 4 = 25 hours

a. 18in;P=3in. +6in. + 3in. + 6in. =
18in.

b. 18sq.in.; A =3in. X 6in. = 18sq.in.
c. AD and BC, DC and AB

d. four combinations are pos_sible_:ﬁ and
AB, BA and BC, CB and CD, DC and DA

a. ; The prime numbers in the cube are 1, 3,

3 _ 1
and5. & =5

2
.1 _ 50 _
b. 50%; 5 = 555 = 50%
5 more sides; a decagon has 10 sides. A
pentagon has 5 sides. 10 — 5 = 5 more sides.

52+4+6+8 +4=20+4=5

9cm;RS=RT-ST=7cm-5cm =2cm.
QR=RS=2cm.QT=QR + RS + ST =
2cm+2cm+ 5¢cm=9cm

38.248
7.500
37.230

+ 15.000
97.978

97.978;

Saxon Math Intermediate 5

217

13.

14.

15.

16.

17.

18.

19.

20.

21.

$5.26; $6 — ($1.49 — 75¢)
$7.49
- $0.75
$0.74
5 9,
$6.00
— $0.74
$5.26

$6 -

240; 2.4 X 100 = 240.0

0.0288; 0.24 .
% 0.12 4 digits
048
+ 0240
0.0288
1250
0.0125; 0.0125
8)0.1000
-8
20
-16
40
~40
0
435 . 10 _ 435 ﬁe."f
-40
35
=35
0
120; 120
12)1440
-12
24
—24
00
-0
0
1. 1,4 4
11ﬁ’ 3-5 X 2 312
3.3_ 59
+73x%=73
13 _ 44 1
10ﬁ = ‘I‘Iﬁ
13, 3.2_56
1w 772714
107 _ 7
T3X77 1
13
14
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15 15
41,3 _ .43
13x3=13
1
515
7. i -g:E
23. 5 5753 15
_1y5_5
3%5" 15
s
15
2.1 1
24. 1§'ixsf
110 _ 10 _ 44 _ 42
2 X3 -8 - 16713
25. 10;4><2%
4. 5_20_
7X3=%=10
;
26. a. 13.5sq.m; 45m |, . .
% 3mj1d'g't
13.5sg. m

b. 15m;P=34+45+3+45=15m
27. 1.5 cubic feet; V =2 ft x 1.5t x 0.5 ft

2ft |, .
X1'5ﬂ;1dlglt

10
+ 20
3.0sq.ft x0.5ft
.0 -
X 0.5 ]2 digits
1.50

1.5 cubic feet

28. a. 18 inches; the length of each side is
6+~ 3 =2inches. P =9 X 2 inches =
18 inches

b. 113%;{ = 1 x 100% =%= 111%

1
9

C.

16 small triangles
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29. $42; ($12.50 x 4) - ($2 x 4) = $50 - $8 =
$42

30. Yes; 189 is about 200; 20 + 5 = 4, so
200+5=40

Early Finishers
a. 7% miles; sample: | rounded g- to 1 and

multiplied 1 X 9 for an estimate of 9 miles.

Then | multiplied g X 9 to find the actual
answer, 7% miles.

b. Sample: [ is close to 9 miles, so the
product is reasonable

c. 131 miles; 7 x 15 = 195 = 131 mjles
8 8 8 8

Investigation o

Focus On
1. 6 triangles

2. 4 squares

3. A;

4. AandC;

Activity 1
5. See student work.

6. See student work.

Activity 2
See student work.

Investigate Further
a. See student work.

b. See student work.
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